Project: AlA#
Item #: Qty: SiSE
Model #:

A family company manufacturing in the USA

.
il Wood Panel Side
Serviced Grilles

Ej [ Glastender side-serviced coolers can be supplied
GG with wood compressor compartment covers to match
) wood panel doors.

(G
(I G Note: Wood compressor compartment covers do
G not meet UL flammability test requirements. Cool-
G ers manufactured with raised panel wood doors do
O NOT carry the ETL mark. Please verify acceptability
G- with your local electrical inspector prior to ordering.
(G
D Wood Panel Side Serviced Grille
(G Mounting Instructions
(G G

- = 1. Remove the bottom screw fastening the metal grille
[ Eg j assembly to the cooler and carefully lift upward to

§ Y disengage the upper grille flange from the offset

clip.
2. On the back of the digital controller, use a small

(GG screwdriver to remove the probes. Disconnect the
(GG wire harness also.
G 3. Lay the wood panel grille face down on a clean,
. — smooth surface.
C ) 4. Align the metal grille assembly mounting holes with
) pre-drilled holes in wood panel grille.
(G G 5. Fasten the wood panel to the metal grill assembly
(GG with supplied fasteners in all six locations.
G 6. Reconnect controller probe wires and wire harness
G 7. Slide the grille upper flange into the offset clip and
T reinstall the bottom screw.
(G
(G
(G G
(G G
(GG
(GG

Lo |

Glastender, Inc. « 5400 N Michigan Rd « Saginaw, MI « 48604-9780 | Approval/Notes:
989.752.4275 + 800.748.0423 « Fax 989.752.4444
www.glastender.com

Specifications subject to change without notice. For current specifications please visit our website.

e Rev. 01-16-25
rinted in Wood Panel Side Serviced Grilles - Page 1 of 6 *




Wood Panel Side Service Grilles

C1SB Wood Grille Dimensional Information

FRONT VIEW SIDE VIEW BACK VIEW
f—~4.000—+ 6X @ .078 T .500
| soop- 7% -500—] |- FOR #6 WOOD SCREWS
1 2507——5 | ggégop :
C1 SB2O . — 311433,#5
C1SB28 = =
—> —>
C1SB44 e— —
—D —D
C1SB48 = =
—> —>
C— | —Ri2sTrP gg.gggr\ — >
313 20000 | ﬁ
il 18.0004
—D —D
—D —D
—D —D
—D —D
—> —>
—D —D
— —
e— e %
c—1  —)
—D —D
—D —D
—D —D
—> —>
—> —>
% 813 TYP 1.00 | e—)
0750+ d
313 -

FRONT VIEW BACK VIEW
-1?:222; 375 - 6X ¢ 078 T 500
C 1 S B24 33,250, //FOR #6 WOOD SCREWS
32.500f——H
1.000—7 32.31?# R
31,438
— —
| —) [c—
— [ —
| —) [c—
—— [ e—
| —) [c—
—— [ e—
| —) [c—
—— [ e—
—— —
—— [ e—
% 20,625~ ::) | —R125TYP
20.375—F .
]
219—
18.000]
500 TYP
:II [c—
— [T —
—— [ e—
—— —
—— [ e—
—— —
| — [e—
— [a—
| — [e—
— [a—
| — [e—
— [a—)
| — [e—
—— [a—
| — [e—
—— [a—
| — [e—
L0 [ a—r W —
‘ 071 T Lo
313

5400 N Michigan Rd * Saginaw, Ml « 48604-9780
&r 989.752.4275 + 800.748.0423 » Fax 989.752.4444
® www.glastender.com Printed in USA

Wood Panel Side Serviced Grilles - Page 2 of 6




Wood Panel Side Service Grilles

C1SL Wood Grille Dimensional Information

FRONT VIEW SIDE VIEW BACK VIEW
—4.000— 6X B 078 T 500
~ -500p- 750 500— - FOR #6 WOOD SCREWS
] resos— 17
C1SL20 1250 264381 ;|:] )
— o8 —
C1SL28 —| —)
—> —>
C1SL36 —| —)
—> —>
—> —D
C1SL48 —  —)
—> —>
—> —>
—> — >
—> — >
| Gum— 14750~ |C—
- 14.500—1 -
(3375 13,8751
31— |-
11.875
—> —>
— il —)
| GE— —>
a—1  —
—> — >
—> — >
—> — >
[C—] [GE—)
[G—] [GE—
[—] [ GE—
a— —
C— D r— 1000~ |1
0.750— 1 .
313
FRONT VIEW SIDE VIEW BACK VIEW
N 750 375+ |~ 6X ¢ 078 T .500
1.500 : ’ . -
C1SL24 '1 r’ || 27375 // FOR #6 WOOD SCREWS
26,625~
1 .oow»—}:‘ 26.4381"
25.563rﬁ<D
[CE—] —>o
—D —>o
—DO —>o
[E— —>
—DO —>o
—D —>
[GE—] [GE—]
—DO —>o
[CE—] —>o
—D —>o
—DO —>o
[EE—) —>
——2| <isme =T
L 3.063— 13.875("
219~
11.875
| [oorve
:Ij [EE—)
—DO —>o
[EE—) [ E—)
—D —>o
—D —>o
[EE—] [EE—]
—DO —>o
—D —>o
[EE—] [EE—)
—DO —>o
1 813 TYP :)
— 77 1.000~__|C—
0.750— T .
313 =

5400 N Michigan Rd * Saginaw, Ml « 48604-9780
&r 989.752.4275 + 800.748.0423 » Fax 989.752.4444
® www.glastender.com Printed in USA

Wood Panel Side Serviced Grilles - Page 3 of 6




Wood Panel Side Service Grilles

C2SB Wood Grille Dimensional Information

FRONT VIEW BACK VIEW
—4.000— 6X @ 078 T .500
~1.500] 5004 |+ FOR #6 WOOD SCREWS
r 33.2504
32.500] .
1.250 :‘ 2313
31 .43&—/——[—]
| c— —
—D —
C2SB36 — —
—o —
C2SB44 — —
| c—] —
C2SB48 — —
| c— —
—o —
| c— —
| c— —
—o —
20875 |
20.000
—3.375—
31— [~
16.500f
—D —
| c— —
—o —
| c— —
| c— —
—D —
| c—] —
20.625 — —
—o _L—.SOO TYP —
| c— —
—D —
| c— —
—o —
| c— —
| c— —
—D —
| c— —
— 813 TYP [ c—
: D s |
1,000 . = 7

5400 N Michigan Rd * Saginaw, Ml « 48604-9780
&r 989.752.4275 + 800.748.0423 » Fax 989.752.4444
® www.glastender.com Printed in USA

Wood Panel Side Serviced Grilles - Page 4 of 6




Wood Panel Side Service Grilles

F1SB Wood Grille Dimensional Information

FRONT VIEW SIDE VIEW BACK VIEW
f—4.000— 5004 6X @ 078 ¥ .500
,11 ASOO" fm}—— 750 - FOR #6 WOOD SCREWS
F1SB20 H | ] 7
50—
1.250— 32.31
31 .43§r/rﬁ<l:]
F1SB28 — —
— —
F1SB36 | C— —
— [ c—
— —
| C— —
F1SB48  — —>
— —
— —
— —
— —
— 20625~ _|C— >
20.375——* b
—3.375— 200007
31—
17.0004
— —
— [ c—
— —
— —
— —
— —
— —
— —
| s —
— —
| " —
— —
— —
| C— —
— —
— —
— —
— T | e—
| G > 1.00( C D
0.75( rrbﬂ .
313+~
FRONT VIEW SIDE VIEW BACK VIEW
% 375+ - 6X @ 078 ¥ .500
1.500 7% FOR #6 WOOD SCREWS
F 1 S 824 :Jar‘ M ggzggorﬂ //
1.000— 3231
31 .43grﬁﬂ
| c— | c—
| — | c—
| c— | c—
| c— | c—
| c— [ c—
[ c— [ c—
[ c— [ c—
[ c— [ —
| — | c—
| c— | c—
| — | c—
| c— | c—
[em— P gg:g?; S | Ga—
20.0001"
[—3.063—
2194
500 TYP 17.000
—" | c—1
a1 L —
[ c— [ —
[ c— [ c—
[ c— [ —
[ c— | c—
| c— | c—
| c— | c—
| c— | c—
[ c— [ —
[ c— [ c—
[ c— [ —
[ c— [ c—
| — | c—
| c— | c—
| c— | c—
[ c— [ —
[ — —
—H " 1000 |C—
0.750—1= .
313 =

5400 N Michigan Rd * Saginaw, Ml « 48604-9780
&r 989.752.4275 + 800.748.0423 » Fax 989.752.4444
® www.glastender.com Printed in USA

Wood Panel Side Serviced Grilles - Page 5 of 6




Wood Panel Side Service Grilles

F1SL Wood Grille Dimensional Information

FRONT VIEW SIDE VIEW BACK VIEW
[F——4.000— o 6X @ 078 ¥ .500
F1SL20 - -500r‘ 750 500 /FOR #6 WOOD SCREWS
- 27.375
26.625; L /]
F1 SL28 1.250 26.438?<D
25.563—1
F1SL36 —> — >
—— > —— >
F1SL44 — —>
—— > —— >
—— > —— >
[CE— [—
—— > —— >
—— > —— >
—— > —— >
—— > —— >
—— > —— >
14.750)
| izt =
3375 13.8751"
313
— 10.875
| e —"
[ EE— — >
[a—1 I  —
— > — >
— > — >
— > — >
— > — >
— > — >
— > — >
—— " 1000~ |C—
0750 .
L o
313
FRONT VIEW SIDE VIEW BACK VIEW
—3.500— s 0
375 - 6X @ 078 T 500
1.500 750
F1 SL24 ‘1 f’ ] 27375 /FOR #6 WOOD SCREWS
26.625——1- /
l,OOO**—H 26.4381"
25.563rﬁ<l:]
—>D —>D
— > — >
[G—] [GE—
—> —>
—> —>
— > — >
—>o —>o
—>D —>D
—>D —>D
—>D —>D
— > — >
— > — >
—> | —R125TYP A I L S—)
L o6s 13.8751"
29—
| s 0875
[ GE— — >
] [ —
—>D —>D
—>D —>D
—>D —>D
—>D —>D
— > — >
[G—] [GE—
—>o —>o
— > ( )
813 TYP :
F}'ﬁ 1000~__|—
0.750——F .
a1

5400 N Michigan Rd * Saginaw, Ml « 48604-9780
&r 989.752.4275 + 800.748.0423 » Fax 989.752.4444
® www.glastender.com Printed in USA

Wood Panel Side Serviced Grilles - Page 6 of 6




